GB

PL
RU
NL
TR
RO
[T

SK
CZ
HU

STELLABETT

Montageanleitung
Assembly instructions
Instructions de montage
Instrukcja montazu
UHCTRYKUpMSA Mo MOHTaXKY
Montagehandleiding
Montaj talimat
Instructjuni de montaj
Istruzioni per il montaggio
N&vod na montaZz

Navod kmontaZi
Szerelési utmutaté

Stella 90 buche Art.Nr. 16650005/01
Stella 90 weiss Art.Nr. 16650005/08

Stella 120 buche Art.Nr. 16650005/02
Stella 120 weiss Art.Nr. 16650005/09

ver.05-02-2022 1/8




2/8




A B C D E F
M6x15 4 mm M6x50 M6x60 M6x45 M6x70
X 32 X1 X 2 X 4 X 2 X 4
I K
<> 30x30
X 4 x4

Colli 1/3

Colli 2/3

Colli 3/3

2050x220x25

950x220x25

81x81x255

2050x220x25

(N1

950x220x25

WO

170x60x2

610x69x25

950x160x25

Fittings

Colli 2/3

1250x220x25

1250%x220x25

(N1

1250x160x25

STELLABETT

3/8




X4

“y | <>

M6x15 30 x 30

X8




STELLABETT

O
™M

5/8




=910 mm)

Option 1 (h

860 mm)

[ Option 2 (h

STELLA BETT

6/8




STELLA BETT

7/8







	Page 1

